

## City of San Diego PURCHASE ORDER

PO No. 4500089340

Date: 05/08/2017 Page 1 of 4

Ship To:

MWTD-METRO BIOSOLIDS CENTER ACCOUNTS PAYABLE MS 901A 5240 CONVOY ST SAN DIEGO CA 92123-1119 Bill To:

PUD ACCOUNTS PAYABLE 9192 TOPAZ WAY SAN DIEGO CA 92123 **Billing Contact:** Monica Langston

Telephone:

E-Mail:MLANGSTON@SANDIEGO.GOV

Vendor: Schwing Bioset Inc

**Vendor ID:** 10008262

350 SMC Dr

Somerset WI 54025-9050

Terms:

within 30 days Due net

**Delivery Terms:** FOB Destination

Buyer: Ray Falcon

**Telephone**: 619-236-6037

**Telephone:**715-247-3433 **E-Mail:** jjoy@schwingbioset.com

E-Mail: RFalcon@sandiego.gov

					011 0 0 0 111	ago.go.	
ne#	Item ID/Description	Del.Date	Quantity/UM	Unit Price		Extended Price	
1	FY17 ITEM MBC WHS FY17 MBC WHS-SCRAPER,CYLINDER,DIFFERENTIAL,BOX 9 BIOSET #10002329; AS PER ATTACHED QUOTE EMPAC #90		4 EA	USD	4.17	USD	16.68
	DEPARTMENT CONTACT: LINDA TREJO 858-654-5508						
	DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO	), CA 92123					
	PO released NTE as may be required of all lines Update insurance and business tax as required.						
	Non-Deductible Tax					USD	1.29
,	Item completely delivered						
2	FY17 ITEM MBC WHS	06/30/2017	9 EA	USD	85.94	USD	773.46
	FY17 MBC WHS-BUSHING,40X80/53,GUIDE,ITEM #9,MANUF #10017920; AS PER ATTACHED QUOTE EMPAC #9351; CC#						
	DEPARTMENT CONTACT: LINDA TREJO 858-654-5508						
	DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO	), CA 92123					
	Non-Deductible Tax	,				USD	59.95
	Item completely delivered						
3	FY17 ITEM MBC WHS	06/30/2017	3 EA	USD	434.51	USD	1,303.53
	FY17 MBC WHS-BAR,40MMX400MM,CYLINDER ROD,I-POPF BIOSET #10055262; AS PER ATTACHED QUOTE EMPAC #93	'	}				
	DEPARTMENT CONTACT: LINDA TREJO 858-654-5508						
	DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO	). CA 92123					
	Non-Deductible Tax	,				USD	101.02
,	Item completely delivered						.002
4	FY17 ITEM MBC WHS	06/30/2017	4 EA	USD	164.72	USD	658.88
	FY17 MBC WHS-BUSHING,1.575"X0.591",BRONZE 660,MANU #10017921; AS PER ATTACHED QUOTE EMPAC #9362; CC#						
	DEPARTMENT CONTACT: LINDA TREJO 858-654-5508						
otes: The	e Terms and Conditions of this Purchase Order are availa	ble at http://sandiego.gov/	/purchasing/	SE	E LA	ST P	AGE
ΙΜΡΟΚΤΔΝΤΙ							
	FY17 MBC WHS-BUSHING,1.575"X0.591",BRONZE 660,MANU #10017921; AS PER ATTACHED QUOTE EMPAC #9362; CC# DEPARTMENT CONTACT: LINDA TREJO 858-654-5508	JF:SCHWING BIOSET 2000191326 ble at http://sandiego.gov/	/purchasing/	SE		ST P	

To ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be directed to *Billing* Contact person at *Bill-To* address listed above



## City of San Diego PURCHASE ORDER

PO No. 4500089340

Date: 05/08/2017

Page 2 of 4

Line#	Item ID/Description	Del.Date	Quantity/UM	Un	it Price	Exter	ided Price
***	DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, CA  Non-Deductible Tax  Item completely delivered	92123				USD	51.06
5	FY17 ITEM MBC WHS  FY17 MBC WHS-BLOCK,CONTROL,HV-1439 1033 BRD,100 BAR ,HV07-010883995130029483-158,MANUF:SCHWING BIOSET #100 ATTACHED QUOTE EMPAC #9610; CC#2000191326	06/30/2017 058051; AS PER	1 EA	USD	2,798.50	USD	2,798.50
	DEPARTMENT CONTACT: LINDA TREJO 858-654-5508						
	DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, CA	92123					
	Non-Deductible Tax					USD	216.88
***	Item completely delivered						
6	FY17 ITEM MBC WHS  FY17 MBC WHS-BOLT, HEX HEAD,M20X75-10.9,MANUF:SCHWIN AS PER ATTACHED QUOTE EMPAC #9824; CC#2000191326	06/30/2017 NG BIOSET #1001834;	80 EA	USD	6.22	USD	497.60
	DEPARTMENT CONTACT: LINDA TREJO 858-654-5508						
	DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, CA	92123					
	Non-Deductible Tax					USD	38.57
***	Item completely delivered						
7	FY17 ITEM MBC WHS  FY17 MBC WHS-BLOCK,1292 MM X 80MM,CYLINDER,STEEL,MA #10031156; AS PER ATTACHED QUOTE EMPAC #25077; CC#200		2 EA T	USD	3,901.43	USD	7,802.86
	DEPARTMENT CONTACT: LINDA TREJO 858-654-5508						
	DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, CA	92123					
	Non-Deductible Tax					USD	604.72
***	Item completely delivered						
8	FY17 ITEM MBC WHS  FY17 MBC WHS-BUSHING,125MM X 80MM,GUIDE BUSHING,STE ,MANUF:SCHWING BIOSET #10118544; AS PER ATTACHED QUO CC#2000191326		2 EA	USD	741.27	USD	1,482.54
	DEPARTMENT CONTACT: LINDA TREJO 858-654-5508						
	DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, CA	92123					
	Non-Deductible Tax					USD	114.89
***	Item completely delivered						
9	FY17 ITEM MBC WHS  FY17 MBC WHS-RING,PISTON,SG,125 MM,THICKNESS:4 MM,ST ,MANUF:SCHWING BIOSET #10007054; AS PER ATTACHED QUO CC#2000191326		15 EA	USD	47.34	USD	710.10
	DEPARTMENT CONTACT: LINDA TREJO 858-654-5508						
Notes: T	he Terms and Conditions of this Purchase Order are available a	at http://sandiego.gov	//purchasing/	CI	==   ^	CT	PAGE
	IMPORTANT!			اد			
	e prompt payments, PO # must appear on all shipment to Billing Contact person at Bill-To address listed above				<b>FOR</b>	101	AL



## City of San Diego PURCHASE ORDER

PO No. 4500089340

Date: 05/08/2017

Page 3 of 4

Line#	Item ID/Description	Del.Date	Quantity/UM	Uni	t Price	Extend	led Price
	DELIVER TO MBC WHS-5240 CONVOY STREET SAN	DIEGO, CA 92123					
	Non-Deductible Tax					USD	55.04
***	Item completely delivered						
10	FY17 ITEM MBC WHS  FY17 MBC WHS-ROD,CONNECTING,F80 X 1292/16-50 BIOSET #10124579; AS PER ATTACHED QUOTE EMP		3 EA G	USD	1,983.27	USD	5,949.81
	DEPARTMENT CONTACT: LINDA TREJO 858-654-550	8					
	DELIVER TO MBC WHS-5240 CONVOY STREET SAN	DIEGO, CA 92123					
	Non-Deductible Tax					USD	461.11
****	Item completely delivered						
11	FY17 ITEM MBC WHS FY17 MBC WHS-BOLT,SOCKET HEAD,12 MM X 60MM #10001200; AS PER ATTACHED QUOTE EMPAC #253		36 EA T	USD	1.48	USD	53.28
	DEPARTMENT CONTACT: LINDA TREJO 858-654-550	8					
	DELIVER TO MBC WHS-5240 CONVOY STREET SAN	DIEGO, CA 92123					
	Non-Deductible Tax					USD	4.14
****	Item completely delivered						
12	FY17 ITEM MBC WHS  FY17 MBC WHS-SWITCH,LEVEL,3-7/8" FLOAT HT,DO ,W/CAST HOUSING,MANUF:SCHWING BIOSET #3033 EMPAC #35029; CC#2000191326		1 EA	USD	318.58	USD	318.58
	DEPARTMENT CONTACT: LINDA TREJO 858-654-550	8					
	DELIVER TO MBC WHS-5240 CONVOY STREET SAN						
	Non-Deductible Tax	51200, 67(62120				USD	24.68
***	Item completely delivered						
13	FY17 ITEM MBC WHS	06/30/2017	3 EA	USD	38.96	USD	116.88
	FY17 MBC WHS-SCRAPER,D 80/90 X 7 X 10,MANUF:S PER ATTACHED QUOTE EMPAC #70033; CC#200019 DEPARTMENT CONTACT: LINDA TREJO 858-654-550	1326					
	DELIVER TO MBC WHS-5240 CONVOY STREET SAN	DIEGO, CA 92123				LICD	0.00
***	Non-Deductible Tax  Item completely delivered					USD	9.05
14	FY17 ITEM MBC WHS  FY17 MBC WHS-RING,HALF,DN 180, 12MM THICK,ST #10002234; AS PER ATTACHED QUOTE EMPAC #722		4 EA	USD	120.96	USD	483.84
	DEPARTMENT CONTACT: LINDA TREJO 858-654-550	8					
	DELIVER TO MBC WHS-5240 CONVOY STREET SAN						
	Non-Deductible Tax	DIEGO, CA 92123				USD	37.50
N 4 T			, , , , ,				
Notes: T	he Terms and Conditions of this Purchase Order are	available at http://sandiego.gov	purcnasing/	SE	EE LA	ST F	PAGE
	IMPORTAN'	Г!		┤ <i>-</i> -	FOR		



## City of San Diego PURCHASE ORDER

PO No. 4500089340

Date: 05/08/2017

Page 4 of 4

Item ID/Description	Del.Date	Quantity/UM	Unit	Price	Exte	nded Price
Item completely delivered						
CYLINDER FLANGE, MANUF: SCHWING BIOSET #10019936; AS			USD	505.33	USD	2,526.
DEPARTMENT CONTACT: LINDA TREJO 858-654-5508						
DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, 0	CA 92123					
Non-Deductible Tax					USD	195.
Item completely delivered						
FY17 ITEM MBC WHS  FY17 MBC WHS-FLANGE,EX-TEN 50 STEEL,DN 180X 65 MM T CYLINDER FLANGE,MANUF:SCHWING BIOSET #10019142; AS EMPAC #72305; CC#2000191326	06/30/2017 HICK,MATERIAL S PER ATTACHED QUO	5 EA	USD	505.33	USD	2,526.
DEPARTMENT CONTACT: LINDA TREJO 858-654-5508						
DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, 0	CA 92123					
Non-Deductible Tax					USD	195.8
Item completely delivered						
FREIGHT	06/30/2017	500 EA	USD	1.00	USD	500.
e Terms and Conditions of this Purchase Order are availabl	e at http://sandiego.ç	gov/purchasing/	Line Ite		6	28,519. 2,171.
	FY17 ITEM MBC WHS FY17 MBC WHS-FLANGE,ST52-3 CARBON STEEL,DN 180 X 68 CYLINDER FLANGE,MANUF:SCHWING BIOSET #10019936; AS EMPAC #72304; CC#2000191326  DEPARTMENT CONTACT: LINDA TREJO 858-654-5508  DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, O Non-Deductible Tax Item completely delivered  FY17 ITEM MBC WHS FY17 MBC WHS-FLANGE,EX-TEN 50 STEEL,DN 180X 65 MM T CYLINDER FLANGE,MANUF:SCHWING BIOSET #10019142; AS EMPAC #72305; CC#2000191326  DEPARTMENT CONTACT: LINDA TREJO 858-654-5508  DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, O Non-Deductible Tax Item completely delivered  FREIGHT FREIGHT Item completely delivered	FY17 ITEM MBC WHS FY17 ITEM MBC WHS FY17 ITEM MBC WHS FY17 ITEM MBC WHS-FLANGE,ST52-3 CARBON STEEL,DN 180 X 65 MM THICK,MATERIA CYLINDER FLANGE,MANUF:SCHWING BIOSET #10019936; AS PER ATTACHED QUE EMPAC #72304; CC#2000191326  DEPARTMENT CONTACT: LINDA TREJO 858-654-5508  DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deductible Tax Item completely delivered  FY17 ITEM MBC WHS FY17 MBC WHS-FLANGE,EX-TEN 50 STEEL,DN 180X 65 MM THICK,MATERIAL CYLINDER FLANGE,MANUF:SCHWING BIOSET #10019142; AS PER ATTACHED QUE EMPAC #7230S; CC#200191326  DEPARTMENT CONTACT: LINDA TREJO 858-654-5508  DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deductible Tax Item completely delivered  FREIGHT  06/30/2017 FREIGHT Item completely delivered	FY17 ITEM MBC WHS FY17 MBC WHS-FLANCE.ST52:3 CARBON STEEL.DN 180 X 65 MM THICK.MATERIAL CYLINDER FLANCE.MANUF-SCHWING BIOSET #10019936; AS PER ATTACHED QUOTE EMPAC #72304; C#2000191326  DEPARTMENT CONTACT: LINDA TREJO 858-654-5508  DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deductible Tax Item completely delivered  FY17 ITEM MBC WHS  FY17 MBC WHS-FLANCE.EX-TEN 50 STEEL.DN 180X 65 MM THICK.MATERIAL CYLINDER FLANGE.MANUF-SCHWING BIOSET #10019142; AS PER ATTACHED QUOTE EMPAC #72305; C6#2000191326  DEPARTMENT CONTACT: LINDA TREJO 858-654-5508  DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deductible Tax Item completely delivered  FREIGHT  06/30/2017  500 EA  FREIGHT  106/30/2017  500 EA  FREIGHT  106/30/2017  500 FREIGHT  106/30/	FY17 ITEM MBC WHS  FY17 IMBC WHS-FLANGE,ST52-3 CARBON STEEL.DN 180 X 65 MM THICK MATERIAL CYLINDER FLANGE,MANUE-SCHWING BIOSET #10019936; AS PER ATTACHED QUOTE EMPAC #72304; CC#2000191326  DEPARTMENT CONTACT: LINDA TREJO 858-654-5508  DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deductible Tax Item completely delivered  FY17 ITEM MBC WHS DEPARTMENT CONTACT: LINDA TREJO 858-654-5508  DELIVER TO MBC WHS DEPARTMENT CONTACT: LINDA TREJO 858-654-5508  DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deductible Tax Item completely delivered  FREIGHT  06/30/2017  500 EA  USD  FREIGHT  06/30/2017  500 EA  USD  FREIGHT  CHIMBO WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deductible Tax Item completely delivered  FREIGHT  106/30/2017  500 EA  USD  FREIGHT  CHIMBO WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deductible Tax Item completely delivered  FREIGHT  CHIMBO WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deductible Tax Item completely delivered  FREIGHT  CHIMBO WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deductible Tax Item completely delivered  FREIGHT  CHIMBO WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  LIDE WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deductible Tax Item completely delivered	FY17 ITEM MBC WHS  FY17 ITEM MBC WHS-FLANGE.ST52-3 CARBON STEEL, DN 180 X 65 MM THICK, MATERIAL CYLINDER FLANGE.MANUF-SCHWING BIOSET #10019936; AS PER ATTACHED QUOTE EMPAC #27303. CC2200019136  DEPARTMENT CONTACT: LINDA TREJO 858-654-5508  DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deductibile Tax  Item completely delivered  FY17 ITEM MBC WHS  FY17 ITEM MBC WHS  FY17 ITEM MBC WHS-FLANGE.EX-TEN 50 STEEL, DN 180X 65 MM THICK, MATERIAL CYLINDER FLANGE MANUF-SCHWING BIOSET #10019142; AS PER ATTACHED QUOTE EMPAC #27305. CC22000191326  DEPARTMENT CONTACT: LINDA TREJO 858-654-5508  DELIVER TO MBC WHS-5240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deductible Tax  Item completely delivered  FREIGHT  06/30/2017  500 EA  USD  1.00  1.00  ITEMICAL STREED ST	PY17 TIEM MBC WHS PY17 TIBM WHS-FLANGE, ST52-3 CARBON STEEL,DN 180 X 65 MM THICK,MATERIAL CYLINDER FLANGE,MANUE SCHWING BIOSET #10019936, AS PER ATTACHED QUOTE EMPAC, 277320, CC#200191326  DEPARTMENT CONTACT: LINDA TREJO 858-654-5508  DELIVER TO MBC WHS-\$240 CONVOY STREET SAN DIEGO, CA 92123  Non-Deducible Tax  Ren completely delivered  PY17 TIBM CWHS. PY17 TIBM C